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A	
  Hidden	
  Markov	
  Model	
  

•  The	
  joint	
  probability	
  of	
  (Q,O)	
  is	
  defined	
  as	
  

q1	
   q2	
   q3	
   qT	
  

o1	
   o2	
   o3	
   oT	
  

€ 

P(Q,O) = p(q1)p(o1 |q1) p(qt |qt−1)p(ot |qt )
t=2

T

∏

IniPal	
  probability	
   transiPon	
  
probability	
  

emission	
  
probability	
  

….	
  



Learning	
  HMMs	
  

•  UnPl	
  now	
  we	
  assumed	
  that	
  the	
  emission	
  and	
  transiPon	
  
probabiliPes	
  are	
  known	
  

•  This	
  is	
  usually	
  not	
  the	
  case	
  
	
  	
  	
  	
  -­‐	
  How	
  is	
  “AI”	
  pronounced	
  by	
  different	
  individuals?	
  

	
  	
  	
  	
  -­‐	
  What	
  is	
  the	
  probability	
  of	
  hearing	
  “class”	
  a[er	
  “AI”?	
  

3	
  



Learning	
  HMM	
  When	
  Hidden	
  States	
  are	
  
Observed	
  

•  Assume	
  both	
  hidden	
  and	
  observed	
  states	
  are	
  observed	
  
–  Data:	
  ((O1,Q1),	
  …,	
  (OK,QK))	
  for	
  K	
  sequences,	
  where	
  Ok	
  =	
  (o1k,…,oTk)	
  

Qk=(q1k,…,qTk)	
  

•  MLE	
  for	
  learning!	
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€ 

argmax log p((O1,Q1),...,(OK ,QK ))

argmax log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )



Learning	
  HMM	
  When	
  Hidden	
  States	
  are	
  
Observed	
  

•  MLE	
  for	
  HMM	
  

•  DifferenPate	
  w.r.t.	
  each	
  parameters	
  and	
  set	
  it	
  to	
  0	
  and	
  solve!	
  
Closed	
  form	
  soluPon	
  

5	
  

€ 

= log p(q1
k )

k
∑ + log

k
∑ p(o1

k |q1
k ) + log

t
∑ p(ot

k |qt
k )

k
∑ + log

t
∑ p(qt

k |qt−1
k )

k
∑

€ 

log p((O1,Q1),...,(OK ,QK ))

= log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )

Involves	
  only	
  
iniPal	
  
probabiliPes	
  

Involves	
  only	
  
transiPon	
  
probabiliPes	
  

Involves	
  only	
  
emission	
  
probabiliPes	
  



Example	
  

•  Assume	
  the	
  model	
  below	
  

•  We	
  also	
  observe	
  the	
  following	
  sequence:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   1,2,2,5,6,5,1	
  

	
   	
   	
   	
   	
   1,3,2,5,6,5,2	
  

	
   	
   	
   	
   	
   3,2,1,3,6,5,4	
  

•  How	
  can	
  we	
  determine	
  the	
  iniPal,	
  transiPon	
  and	
  emission	
  
probabiliPes?	
  

A	
   B	
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Ini>al	
  probabili>es	
  

Q:	
  assume	
  we	
  can	
  observe	
  the	
  following	
  sets	
  of	
  states:	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AAABBAA	
   1,2,2,5,6,5,1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AABBBBB	
   1,3,2,5,6,5,2	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  BAABBAB	
   3,2,1,3,6,5,4	
  

	
  	
  	
  	
  	
  how	
  can	
  we	
  learn	
  the	
  iniPal	
  probabiliPes?	
  
A:	
  Maximum	
  likelihood	
  esPmaPon	
  

	
  	
  	
  	
  Find	
  the	
  iniPal	
  probabiliPes	
  π	
  such	
  that	
  

A	
   B	
  

πA	
  =	
  #A/	
  (#A+#B)	
  

k	
  is	
  the	
  number	
  of	
  
sequences	
  avialable	
  for	
  
training	
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  € 

π* = argmax log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )

π* = argmax log p
k
∏ (q1

k )



Transi>on	
  probabili>es	
  

Q:	
  assume	
  we	
  can	
  observe	
  the	
  set	
  of	
  states:	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AAABBAA	
   1,2,2,5,6,5,1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AABBBBB	
   1,3,2,5,6,5,2	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  BAABBAB	
   3,2,1,3,6,5,4	
  
	
  	
  	
  	
  	
  how	
  can	
  we	
  learn	
  the	
  transiPon	
  probabiliPes?	
  

A:	
  Maximum	
  likelihood	
  esPmaPon	
  

	
  	
  	
  	
  Find	
  a	
  transiPon	
  matrix	
  a	
  such	
  that	
  

aA,B	
  =	
  #AB	
  /	
  (#AB+#AA)	
  
A	
   B	
  

remember	
  that	
  we	
  defined	
  
ai,j=p(qt=sj|qt-­‐1=si)	
  

8	
  

€ 

a* = argmax log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )

a* = argmax log
k
∏ p(qt

k |qt−1
k )

t=2

T

∏



Transi>on	
  probabili>es	
  

Q:	
  assume	
  we	
  can	
  observe	
  the	
  set	
  of	
  states:	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AAABBAA	
   1,2,2,5,6,5,1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AABBBBB	
   1,3,2,5,6,5,2	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  BAABBAB	
   3,2,1,3,6,5,4	
  
	
  	
  	
  	
  	
  how	
  can	
  we	
  learn	
  the	
  transiPon	
  probabiliPes?	
  

A:	
  Maximum	
  likelihood	
  esPmaPon	
  

	
  	
  	
  	
  Find	
  a	
  transiPon	
  matrix	
  a	
  such	
  that	
  

aA,B	
  =	
  #AB	
  /	
  (#AB+#AA)	
  
A	
   B	
  

remember	
  that	
  we	
  defined	
  
ai,j=p(qt=sj|qt-­‐1=si)	
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Moving	
  window	
  of	
  size	
  2	
  
-­‐>#AA,	
  #AB,	
  #BA,	
  #BB	
  

€ 

a* = argmax log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )

a* = argmax log
k
∏ p(qt

k |qt−1
k )

t=2

T

∏



Emission	
  probabili>es	
  

Q:	
  assume	
  we	
  can	
  observe	
  the	
  set	
  of	
  states:	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AAABBAA	
   1,2,2,5,6,5,1	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  AABBBBB	
   1,3,2,5,6,5,2	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  BAABBAB	
   3,2,1,3,6,5,4	
  
	
  	
  	
  	
  	
  how	
  can	
  we	
  learn	
  the	
  transiPon	
  probabiliPes?	
  

A:	
  Maximum	
  likelihood	
  esPmaPon	
  

	
  	
  	
  	
  Find	
  an	
  emission	
  matrix	
  b	
  such	
  that	
  

A	
   B	
  

remember	
  that	
  we	
  defined	
  
bi(ot)	
  =	
  P(ot	
  |	
  si)	
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€ 

b* = argmax log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )

b* = argmax log p(o1
k |q1

k )
k
∏ p(ot

k |qt
k )

t=2

T

∏

bA(5)=	
  #A5	
  /	
  (#A1+#A2	
  +	
  …	
  +#A6)=#A5/#A	
  



Learning	
  HMMs	
  

•  In	
  most	
  case	
  we	
  do	
  not	
  know	
  what	
  states	
  generated	
  each	
  of	
  
the	
  outputs	
  (hidden	
  states	
  are	
  unobserved)	
  
–  …	
  but	
  had	
  we	
  known,	
  it	
  would	
  be	
  very	
  easy	
  to	
  determine	
  an	
  emission	
  

and	
  transiPon	
  model!	
  

–  On	
  the	
  other	
  hand,	
  if	
  we	
  had	
  such	
  a	
  model	
  we	
  could	
  determine	
  the	
  set	
  
of	
  states	
  using	
  the	
  inference	
  methods	
  we	
  discussed	
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Expecta>on	
  Maximiza>on	
  (EM)	
  

•  Appropriate	
  for	
  problems	
  with	
  ‘missing	
  values’	
  for	
  the	
  
variables.	
  

•  For	
  example,	
  in	
  HMMs	
  we	
  usually	
  do	
  not	
  observe	
  the	
  states	
  
•  Assume	
  complete	
  data	
  log	
  likelihood	
  and	
  maximize	
  expected	
  

log	
  likelihood	
  

	
  	
  	
  	
  where	
  the	
  expectaPon	
  is	
  taken	
  with	
  respect	
  to	
  p(Q|O,	
  
parameters)	
  	
  	
  

12	
  
€ 

argmax E[log p((O1,Q1),...,(OK ,QK ))]

argmax E[log p
k
∏ (q1

k )p(o1
k |q1

k ) p(qt
k |qt−1

k )
t=2

T

∏ p(ot
k |qt

k )]



Expecta>on	
  Maximiza>on	
  (EM):	
  Quick	
  
reminder	
  

•  Two	
  steps	
  
–  E	
  step:	
  Fill	
  in	
  the	
  missing	
  variables	
  with	
  the	
  expected	
  values	
  

–  M	
  step:	
  Regular	
  maximum	
  likelihood	
  esPmaPon	
  (MLE)	
  using	
  the	
  values	
  computed	
  in	
  the	
  
E	
  step	
  and	
  the	
  values	
  of	
  the	
  other	
  variables	
  

•  Guaranteed	
  to	
  converge	
  (though	
  only	
  to	
  a	
  local	
  minima).	
  

M	
  step	
  E	
  step	
  

expected	
  values	
  for	
  
(missing)	
  variables	
  

parameters	
   13	
  



E	
  Step	
  

•  In	
  our	
  example,	
  with	
  complete	
  data,	
  we	
  needed	
  
–  #A,	
  #B	
  to	
  esPmate	
  iniPal	
  probabiliPes	
  and	
  emission	
  probabiliPes	
  

–  #AA,	
  #AB,	
  #BA,	
  #BB	
  to	
  esPmate	
  transiPon	
  probabiliPes	
  

•  When	
  hidden	
  states	
  are	
  not	
  observed,	
  we	
  need	
  “expected	
  
counts”	
  in	
  E	
  step	
  

14	
  

A	
   B	
  
14	
  



Forward-­‐Backward	
  	
  

•  We	
  already	
  defined	
  a	
  forward	
  looking	
  variable	
  

•  We	
  also	
  need	
  to	
  define	
  a	
  backward	
  looking	
  variable	
  

15	
  



Forward-­‐Backward	
  Algorithm	
  

•  We	
  already	
  defined	
  a	
  forward	
  looking	
  variable	
  

•  We	
  also	
  need	
  to	
  define	
  a	
  backward	
  looking	
  variable	
  

16	
  



Forward-­‐Backward	
  Algorithm	
  

•  Backward	
  step	
  

17	
  

  

€ 

βt (i) = P(Ot+1,!,OT |qt = si)

  

€ 

= P(Ot+1,!,OT ,qt+1 = s j |qt = si )
j
∑

  

€ 

= P(qt+1 = s j |qt = si )P(Ot+1,!,OT |qt+1 = s j ,qt = si )
j
∑

  

€ 

= P(qt+1 = s j |qt = si )P(Ot+1,!,OT |qt+1 = s j )
j
∑

  

€ 

= P(qt+1 = s j |qt = si )P(Ot+1 |qt+1 = s j )P(Ot+2,!,OT |qt+1 = s j )
j
∑

€ 

= ai, jb j (Ot+1)βt+1( j)
j
∑



Forward-­‐Backward	
  	
  

•  We	
  already	
  defined	
  a	
  forward	
  looking	
  variable	
  

•  We	
  also	
  need	
  to	
  define	
  a	
  backward	
  looking	
  variable	
  

•  Using	
  these	
  two	
  definiPons	
  we	
  can	
  show	
  
P(A|B)=P(A,B)/P(B)	
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Forward-­‐Backward	
  	
  

•  forward	
  looking	
  variable	
  
•  backward	
  looking	
  variable	
  
•  Using	
  these	
  two	
  definiPons	
  we	
  can	
  show	
  

€ 

=
α t (i)βt (i)
α t ( j)βt ( j)

j
∑

=
def
St (i)

19	
  

  

€ 

P(qt = si |O1,!,OT ) =
P(qt = si,O1,!,OT )

P(O1,!,OT )

  

€ 

=
P(O1,...,Ot ,qt = si)P(Ot+1,!,OT |qt = si,O1,...,Ot )

P(O1,!,OT )



State	
  and	
  transi>on	
  probabili>es	
  

•  Probability	
  of	
  a	
  state	
  given	
  observaPons	
  

•  We	
  can	
  also	
  derive	
  a	
  transiPon	
  probability	
  given	
  observaPons	
  	
  

  

€ 

P(qt = si,qt+1 = s j |o1,!,oT )

=
α t (i)P(qt+1 = s j |qt = si)P(ot+1 |qt+1 = s j )βt+1( j)

α t ( j)βt ( j)
j
∑

=
def
St (i, j)
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E	
  step	
  

•  Compute	
  St(i)	
  and	
  St(i,j)	
  for	
  all	
  t,	
  i,	
  and	
  j	
  (1≤t≤n,	
  1≤i≤k,	
  2≤j≤k)	
  

21	
  



M	
  step	
  (1)	
  

Compute	
  transiPon	
  probabiliPes:	
  

	
  	
  	
  	
  	
  where	
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M	
  step	
  (2)	
  

Compute	
  emission	
  probabiliPes	
  (here	
  we	
  assume	
  a	
  mulPnomial	
  
distribuPon):	
  

	
  	
  	
  	
  	
  define:	
  

	
  	
  	
  	
  	
  then	
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Complete	
  EM	
  algorithm	
  for	
  learning	
  the	
  
parameters	
  of	
  HMMs	
  (Baum-­‐Welch)	
  

•  Inputs:	
  1	
  .ObservaPons	
  O1	
  …	
  OT	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  2.	
  Number	
  of	
  states,	
  model	
  
1.  Guess	
  iniPal	
  transiPon	
  and	
  emission	
  parameters	
  

2.  Compute	
  E	
  step:	
  St(i)	
  and	
  St(i,j)	
  
3.  Compute	
  M	
  step	
  	
  

4.  Convergence?	
  
5.  Output	
  complete	
  model	
  

No	
  

We	
  did	
  not	
  discuss	
  iniPal	
  probability	
  esPmaPon.	
  These	
  can	
  be	
  
deduced	
  from	
  the	
  1st	
  observaPon	
  in	
  each	
  of	
  the	
  mulPple	
  
sequences	
  of	
  observaPons	
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States	
  in	
  HMM	
  

•  How	
  to	
  decide	
  on	
  the	
  number	
  of	
  states	
  in	
  HMM	
  
–  More	
  states	
  means	
  a	
  more	
  complex	
  model,	
  overfisng!	
  

–  Cross	
  validaPon	
  
–  Nonparametric	
  Bayesian	
  model	
  

25	
  



Matching	
  states	
  

InserPon	
  states	
  

DelePon	
  states	
  

No	
  of	
  matching	
  states	
  =	
  average	
  sequence	
  length	
  in	
  the	
  family	
  
PFAM	
  Database	
  -­‐	
  of	
  Protein	
  families	
  
	
  (hNp://pfam.wfam.edu)	
  

Building	
  HMMs–Topology	
  

26	
  



A	
  HMM	
  model	
  for	
  a	
  DNA	
  moPf	
  alignments,	
  The	
  transiPons	
  are	
  
shown	
  with	
  arrows	
  whose	
  thickness	
  indicate	
  their	
  probability.	
  In	
  
each	
  state,	
  the	
  histogram	
  shows	
  the	
  probabiliPes	
  of	
  the	
  four	
  bases.	
  

ACA	
  	
  	
  -­‐	
  -­‐	
  -­‐	
  	
  ATG	
  	
  	
  	
  	
  	
  
TCA	
  	
  ACT	
  	
  ATC	
  
ACA	
  	
  C	
  -­‐	
  -­‐	
  	
  AGC	
  
AGA	
  	
  	
  -­‐	
  -­‐	
  -­‐	
  	
  ATC	
  
ACC	
  	
  G	
  -­‐	
  -­‐	
  	
  ATC	
  

Building	
  –	
  from	
  an	
  exisHng	
  alignment	
  

TransiPon	
  probabiliPes	
  

Output	
  ProbabiliPes	
  

inserPon	
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Dynamic	
  Bayesian	
  Networks	
  (DBNs)	
  

•  Bayesian	
  networks	
  for	
  modeling	
  dynamic	
  process.	
  HMM	
  is	
  a	
  
special	
  case	
  of	
  DBN	
  
–  HMM	
  represents	
  the	
  state	
  with	
  a	
  single	
  random	
  variable:	
  P(Qt|Qt-­‐1)	
  
–  DBN	
  represents	
  the	
  state	
  with	
  a	
  set	
  of	
  random	
  variables:	
  P(Qt|Qt-­‐1),	
  

where	
  Qt	
  is	
  a	
  set	
  of	
  variables	
  

•  DBN	
  o[en	
  has	
  a	
  compact	
  representaPon	
  of	
  HMM	
  
representaPons	
  
–  DBN	
  may	
  have	
  exponenPally	
  fewer	
  parameters	
  than	
  its	
  corresponding	
  

HMM	
  

–  Faster	
  inference	
  and	
  learning	
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Factorial	
  HMMs	
  

•  DBN	
  with	
  D	
  chains,	
  each	
  with	
  K	
  
states	
  
–  Three	
  O(K2D)	
  transiPon	
  

probabiliPes	
  

–  12	
  parameters	
  

•  HMM	
  representaPons?	
  
–  KD	
  states	
  
–  O(K2D)	
  transiPon	
  probabiliPes	
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Other	
  Variants	
  of	
  HMMs	
  as	
  DBNs	
  

30	
  

HMM	
  
Mixture	
  of	
  
Gaussian	
  
HMM	
  

Autoregressive	
  
HMM	
  

Input-­‐output	
  
HMM	
  



Semi-­‐Markov	
  HMM	
  

•  Relax	
  the	
  Markov	
  constraint	
  to	
  allow	
  staying	
  in	
  the	
  current	
  
state	
  for	
  an	
  explicit	
  duraPon	
  of	
  Pme	
  Lt	
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Hierarchical	
  HMM	
  

•  Each	
  state	
  can	
  emit	
  another	
  HMM	
  that	
  generate	
  sequences	
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What	
  you	
  should	
  know	
  

•  Why	
  HMMs?	
  Which	
  applicaPons	
  are	
  suitable?	
  

•  Inference	
  in	
  HMMs	
  
	
  	
  	
  	
  -­‐	
  No	
  observaPons	
  

	
  	
  	
  	
  -­‐	
  Probability	
  of	
  next	
  state	
  w.	
  observaPons	
  
	
  	
  	
  	
  -­‐	
  Maximum	
  scoring	
  path	
  (Viterbi)	
  

•  Learning	
  in	
  HMMs	
  
–  EM	
  algorithm	
  with	
  inference	
  as	
  a	
  subrouPne	
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